Sr vrednost =AVERAGE(C2:C41) =AVERAGE(D2:D41) =AVERAGE(E2:E41) =AVERAGE(F2:F41) =AVERAGE(G2:G41) =AVERAGE(H2:H41)
St. devijacija  |=STDEV(C2:C41) =STDEV(D2:D41) =STDEV(E2:E41) =STDEV(F2:F41) =STDEV(G2:G41) =STDEV(H2:H41)
Ispitanik starost (god) | E Kol (N) [ E Kuk (N) [ F Kuk (N) [ Ab BR (cm) [ Ab SR (cm) [ Dalj (cm)
Isp\tanik 1 12 250 630 180 26.1 33 202
Z vrednosti =STANDARDIZE(C46,C$42,C$43) =STANDARDIZE(D46,D$42,D$43) =STANDARDIZE(E46,E$42,E$43) =STANDARDIZE(F46,F$42,F$43) =STANDARDIZE(G46,G$42,G$43) =STANDARDIZE(H46,H$42,H$43) =SUM(C47: H47) I
Ispitanik 2 12 220 650 220 29.2 34.8 187
Z vrednosti =STANDARDIZE(C48,C$42,C$43) =STANDARDIZE(D48,D$42,D$43) =STANDARDIZE(E48,E$42,E$43) =STANDARDIZE(F48,F$42,F$43) =STANDARDIZE(G48,G$42,G$43) =STANDARDIZE(H48,H$42,H$43) =SUM(C49:H49) I




